Change this pawn and dice picture into an algebraic expression (do not simplify):


1.  




2.  



Using the expression from #2 above, list the following: 


Constants: 

Coefficients:

Like Terms: 
Now, for #1 and #2 above, use your pawns and dice to model them and simplify (form zero pairs and combine the dice).  Write your answer in a picture of pawns and dice first, and then using algebraic symbols. 



1. ________________________________  =  __________________________________



2. _________________________________  =  __________________________________

The process you completed above is called combining like terms! 


Variables can be represented by any letter.  Now we’ll introduce y as a variable and use chips to represent it!  




Now combine like terms:   ___________________________   =   _______________________

Since 4x and 3y are not like terms, we cannot combine them!  Think:  pawns can only be combined with pawns, dice with dice, and chips with chips. 
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=     6x + -1 + -2x + 3y + 5
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algebraic symbols





Answer Key





1x + -6 + 4x + 1x + 10
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4x + -1 + 3y








